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1
Introduction
In this contribution we provide our preliminary simulation results for HeNB inbound mobility performance requirements according to the simulation assumptions proposed by NTT DOCOMO in Section 2 of [1].
2
Simulation results
According to [1], in order to derive the final performance requirement, the following simulation work is needed.
· Link level simulations for PDSCH in the serving cell

· Link level simulations for MIB/SIB1 in the HeNB cell

For the purpose of initial performance alignment, we provided the simulation results of PDSCH throughput without autonomous gaps (Scenario A in [1]) and MIB/SIB1 BLER performance in this contribution.

2.1 Simulation results for PDSCH (Serving cell)
In Figure 1, we provide the PDSCH throughput simulation results of the serving cell without autonomous gaps for MIB/SIB1 reading (Scenario A in [1]).
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Figure 1 PDSCH throughput simulation results
From the simulation results above, the required SNR of 70% PDSCH throughput in the serving cell without autonomous gaps for MIB/SIB reading is about -3dB.
2.2  Simulation results for MIB (HeNB)
The BLER curves of MIB with 1 to 4 attempts decoding are shown in Figure 2.
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Figure 2 MIB BLER simulation results
From the simulation results above, the performance requirement for MIB reading without implementation margin would be:

· MIB should be successfully decoded with 99% probability for Es/N0 > 1.2 dB with 1 attempt.
· MIB should be successfully decoded with 99% probability for Es/N0 > -3.3 dB with 2 attempts.
· MIB should be successfully decoded with 99% probability for Es/N0 > -6.0 dB with 3 attempts.
· MIB should be successfully decoded with 99% probability for Es/N0 > -7.7 dB with 4 attempts.
2.3 Simulation results for SIB1 (HeNB)

The BLER curves of SIB1 with 1 to 4 attempts decoding are shown in Figure 3.
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Figure 3 SIB1 BLER simulation results
From the simulation results above, the performance requirement for SIB1 reading without implementation margin would be:

· SIB1 should be successfully decoded with 99% probability for Es/N0 > 1.0 dB with 1 attempt.
· SIB1 should be successfully decoded with 99% probability for Es/N0 > -3.1 dB with 2 attempts.

· SIB1 should be successfully decoded with 99% probability for Es/N0 > -5.1 dB with 3 attempts.

· SIB1 should be successfully decoded with 99% probability for Es/N0 > -6.8 dB with 4 attempts.

2.4  Conclusion
In this document, we provided the simulation results of PDSCH throughput without autonomous gaps and the MIB/SIB1 BLER performance for the purpose of performance alignment.
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